
www.sonum.ru

1

3

А

D

BE

2

4 шт.

18 шт.*8 шт. 8 шт.

2 шт.

1 шт.

Инструкция по сборке кровати Alice 4 шт.

А

М6х50

30 шт.

M6x12

4 шт.18 шт.

M6x20M6x40M6x60

4 шт.2 шт.

Гайка
Эриксона

М6х40

М6х50

* 19 шт. при ширине 120 см.

8 шт.

М6х40
8 шт.

2 шт.

4 шт.

M6x50

12 шт.

М6х20
4 шт.

М6х20
4 шт.

B

B
B

А

B B



M6x20

M6x20

M6x60

7

4 5

D

М6х12

М6x12

Гайка Эриксона

D

A

Демпфер резиновый

B

6

8

2 шт.

2 шт.
M6x20
2 шт.

2 шт.

2 шт.

B+D+B

М6x40

B

M6x20
4 шт.


	Страница 1
	Страница 2

